# **Certificate of Appreciation by ITC**







### Certificate of Appreciation

we take great pleasure in awarding certificte of appreciation to
Siddharth Institute of Engineering & Technology, Puttur, Chittoor Dist.

For Contribution 2918 kgs of Paper waste to ITC -WOW, a nation wide recyling intiative. environmental savings by recycling of above contributed paper waste are 2160 trees,  $108.2\ cubic\ mtrs.\ of\ land\ fill\ space,\ 2444\ kl\ of\ water,\ 441900\ units\ of\ energy\ and$   $redustion\ of\ 94.08\ mts\ of\ CO_2$ 

During the period of June 2018 Let us make india clean & Grean











### Certificate of Appreciation

we take great pleasure in awarding certificte of appreciation to Siddharth Institute of Engineering & Technology, Puttur, Chittoor Dist.

For Contribution 4377 kgs of Paper waste to ITC -WOW, a nation wide recyling intiative. environmental savings by recycling of above contributed paper waste are 3240 trees, 162.3 cubic mtrs. of land fill space, 3666 kl of water, 662850 units of energy and redustion of 141.12 mts of CO<sub>2</sub>

During the period of January 2019 Let us make india clean & Grean











### Certificate of Appreciation

we take great pleasure in awarding certificte of appreciation to Siddharth Institute of Engineering & Technology, Puttur, Chittoor Dist. For Contribution 3209 kgs of Paper waste to ITC -WOW, a nation wide recyling intiative. environmental savings by recycling of above contributed paper waste are 2376 trees, 119.02 cubic mtrs. of land fill space, 2688 kl of water, 486090 units of energy and redustion of 103.4 mts of  $\mathrm{CO}_2$ 

During the period of December 2020 Let us make india clean & Grean











### Certificate of Appreciation

we take great pleasure in awarding certificte of appreciation to Siddharth Institute of Engineering & Technology, Puttur, Chittoor Dist.

For Contribution 3647 kgs of Paper waste to ITC -WOW, a nation wide recyling intiative. environmental savings by recycling of above contributed paper waste are 2700 trees, 135.2 cubic mtrs. of land fill space, 3055 kl of water, 552375 units of energy and redustion of 117.6 mts of CO,

During the period of September 2021 Let us make india clean & Grean









## INVOICE

M/S GRKMS PVT LTD

Company Address: Plot Number 74, KIADB Industrial Area. 1<sup>st</sup> stage, Sompura, Bharathipura, Dabaspet, Bangalore-562 111

Company Mobile Number: +91 9980255556, 9980155556.

Website: www.grkms.com.

Email: info@grkms.com and support@grkms.com

GSTIN No: 29AAGCG9897E1ZV

Dated As: 12/12/2020

Invoice Reference No: GRKMS/E-waste/2019-20/122

About Customer

Company Name: M/S Siddhartha Engineering College

Address: Narayanavanam Road, Near Tirupati -- Chennai Highway, Siddharth Nagar

City, State, Zip code: Puttur, Chittoor, Andhra Pradesh - 517 583

Contact Person Name: The Prinicipal

Phone/Mobile No:+91 99082 87979

Customer (as referred herein): M/S Siddhartha Engineering College, Chittoor, Andhra Pradesh.

Material Pick up Location: M/S Siddhartha Engineering College, Chittoor, Andhra Pradesh.

SI No.	Materials  Description	Quantity	Unit	Unit Price	Total
1	TFT - Monitors	52	Nos	75.00	3900.00
2	CRT - Monitors	50	Nos	50.00	2500.00
3	CPU	140	Nos	300.00	42000.00
4	Laserjet Printer	6	Nos	500.00	3000.00
5	Keyboard	50	Nos	15.00	750.00
6	Mouse	10	Nos	5.00	50.00
7	Copper Cable	30	Kgs	150.00	4500.00
8	Scanners	6	Nos	100.00	600.00
9	OTD	2	Nos	100.00	200.00
10	Chairs	30	Nos	100.00	3000.00
Amount in Words: Sixty Three Thousand				Sub Total	60500.00
Five Hundred and Twenty Five Rupees				Tax @ 5%	3025.00
Only				Total	63525.00

Siddharth Institute of Engnineering & Technology

Siddharth Nagar

PUTTUR - 517583, Chittoor Dist.

[Signature of Authorized Person]

Recycle Today For a Better Tomorrow.

**GRKMS PRIVATE LIMITED** 

Plot No 74, KIADB Industrial Area, 1st stage, Sompura, Bharathipura, Dabaspete, Bangalore-562111



#### **General Terms and Conditions:**

- 1. We have provided per unit prices and final amount will be arrived based on the actual quantity of E-waste handed over to
- 2. The unit price are subject to change for the following reasons: 2.1 If all the items as per this quotation is not delivered to us.
- 3. E-waste generator shall provide GST Invoice, E-way bill, gate pass, and other statutory documents if any, at the time of movement of the goods/E-waste.
- The Unit price quoted is inclusive of GST and any other applicable taxes, duties and levies, if any, at the time of movement of the goods /E-waste.
- 5. GST will be applicable only if you're registered with GST else only Basic price will be paid by GRKMS.
- 6. All prices quoted are valid till addays from the date of stated on the quotation.
- 7. Transporter of E-waste shall be carried out strictly as per the manifest system, as per the provision made in rule 19 of the E-waste Management Rules, 2016 and the transporter will be required to carry documents (three copies) as per form 6 of the rules provided by the sender or as applicable at the time of transporter of the E-waste.
- GRKMS shall bear the Weighing, Loading and fright cost from E-waste Generator location to GRKMS Location.
- GRKMS prefers to make the payment by NEFT/RTGS online transfer mode.
- 10. Destruction: GRKMS, if required by customer, shall recycle/dismantle the E-waste in the presence of their representative, Customer needs to intimate this in advance and make own arrangements to visit our facility.

In closing, we would like to restate our commitment to our customer that, all the tech waste collection by us, shall and disposed of in a safe and environment friendly manner

Warm Regards for GRKMS Private Limited

K Guna Prasad **Authorized Signatory** +91 99801 55556

Siddharth Institute of Engnineering & Technology Siddharth Nagar

PUTTUR - 517583, Chittoor Dist.

Recycle Today For a Better Tomorrow.